PART -1

Mental Ability wATRER draat
L. Maté:h the following. 1. ﬁﬂf?fﬁéﬁw'm'
Column - | Column - IT FeH - 1 FeH - 11
(a) Male I e
Boys & @ (a) 39 @ @ o
Football . -
(b) Pigeon am GO0
Bird " (b)FER a 3D
Dogs e
(c) Teacher (1ID) @ F :
Author _ : '
Musician (©) m@lgz (I
(d) College av) @ | SR
Student
School (d) Wi av) @
7 | feremelt
Ch(?ose t}}e correct answer from the fraed .
options given below- |
A. a-I, b-Il, c-III, d-IV qﬁ%ﬁqmﬁmﬁﬁgﬁmgﬁ_
B. a-Il, b-1V, c-I, d-III A. a-L, b-Il, c-I11, d-IV '
C. a-lIl, b-l, c-1V, d-1I a-11, b-IV, c-I, d-111
D.

B.
a-1V, b-111, c-1I, d-I ¢, aIL b, c-1V, d-1I
D. a-1V, b-III, c-1I, d-1

.@ ® ® G Space For Rough Work / 76 i & ford stre @ PR

b d0 -
o DINHNNO 2 setc

13-2205-DESR25-ENT-EVE

(¥ Scanned with OKEN Scanner



2. ' For the below Assertion [As] and
Reason [R] choose the correct

alternative- ’

Assertion [As] : 4+3x12+3=16

Reason [R] : According to BODMAS
Division is called before

Multiplication and Multiplication

performed before Addition, so we first
calculate 12 +3 =4 then-

4+3%x4=4+12=16

A. Both [As] and [R] are true, and

[R] is the correct explanation of
[As].

B. Both [As] and [R] are true, but [R]

is not the correct explanation of
[As].

C. [As] is true, but [R] is false.
D. [As] is false, but [R] is true.

-2,

49 R g e [As] 3T [R] F g

ot fererea -

HUT [As] : 4+3%12+3=16

SR [R] : BODMAS % 31T ST, o
& 6 T T ForaT i & TR A el

8, TOTTT & vE AT SR 1243 =4

R 4+3x4=4+12=16

A. [As] ¥R [R] 3R w1 &, 3R],
[As] T HE! TS0 B

B. [As] 3R [R] 3T ®& &, T [R],
[As] T T Taeier 7 R

C. [As] @& ?, W [R] Terel )
D. [As]TTerd 8, T [R] @ &1

»  Match the following-

Column - I Column - 11
(Eirst two term)  (Next two term)
(a) B:E I S:N
b)) Z:W (II) H:K
(c) A:E" ) O:T
(d) E:J M I1:0

Choose the correct answer from the
options given below-

A. a-I, b-lI, c-II, d-1V
B. a-1V, b-l, c-1, d-III
C. a-ll, b-I, c-IV, d-III
D. a-l, b-1V, c-III, d-1I

. FrerfeRea #r gafem i

T - 1 T - 11
(STH 21 93) (3T 3 vT)
(8) B:E I S:N
(b) Z:W () H:K
(c) A:E dIm o:T
(d E:J (Iv) 1: 0
et faw oy ferepedt & & Wt I -

A. a-], b-II, c-III, d-1V
B. a-IV, b-I1, ¢-I, d-1II
C. a-I, b-I, c-IV, d-II
D. a1, b-IV, c-II, d-II

AT RSB
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4. Which of the following figure will 4. fReferiad # 1 # opfe gEer
follow the series? AT Faf?

a) 'y b) Ly 2) [ b) LU
os-4L UL JL UL
A. Only a B A HFa
B. bandd ' B. b3ﬂ,{_d
C. a,bonly -
D. Onlyd C o
D. A d
'5. Match the following- 5. foforfaa 1 gATeTa L
- Column -1 - Column - II FTe - 1 &H1rd - 11
(Series) : (Missing | () —_‘:m .
Number) (a) 3,6,12,24,2,96-- (D) 15

(a) 3,6,12,24,7,96-- (I) 15

(b) 100, 50,25,7,6.25-- (I) 48 (b) 100,50,25,?,6.25-- (I) 48

©) 2,6,12,20,?7,42-- (III) 12.5 © 2,6,12,20,7, 42— (I 125
@ 1,3,6,10,?,21--  (IV) 30 @ 1,3,6,10,7,21--  (IV) 30
= R e frepedt # & Tt W IA-

~ Choose the correct answer from the

options given below- A. a-IL, b1, c-1V, d-I

A. a-Il, b-III, c-IV, d-I B. a-Il, b-IV, c-III, d-I
B. a-lII, b-1V, c-III, d-I C. a-lIL b-II, c-I, d-IV
C. a-IIl, b-II, c-I, d-IV D. alL b-III,' é-I, LIV
D. a-lI, b-111, c-I, d-IV
&l o R P SpaceForRoughWork'/I‘FW?f%%{ﬁW RBPo-
3 x b A Y
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6. Choose the box that is similar to the 6. 3IF T R IIT F{ & Ry T IS i

box formed from the given sheet of e & o9 S ¥ g9 &-
paper- %
' : (o) \\
o q » i
\\\\\\\«\\\\\\\\\\\ a) b) \\\\\\\\\\\\
a) by W r 4 T
c) d) P D d)
A. bandconly | A. b3 cHH
B. a,canddonly B. a,CaﬂTdW
C. banddonly C. bR dA™
D. aandd only \ D; a ﬁ(ldm
7. For the below Assertion [As] and 7. = R R [As] R FR0 [R] F fin
Reason [R] choose the correct gg"rﬁq.,—(«qgﬁ_
alternative- S :
Assertion [As] : On a standard dice, e [As]' : W‘TFEF RAN A
the sum of the Number of points on T fergAt < A AN 7 € B
the opposite sides is seven. R [R] : TF A TTH T Feh T 1§
Reason [R] : A standard dice has - 6 Tk <hl TEATE Bt €, o Fydia weran!
Numbers from one (1) to six (6) on : :
each face and the sum of the Numbers SR A 7 3’1‘«[ 8
on opposite sides is seven (7). A, [As] 3R [R] SFT weT &, 3R [R],
A. Both [As] and [R] are true, and [As] T T TSI B
[R] is the correct explanation of :
(As] | B. [iS] ;ﬂ:ﬂg}ﬁ:’rm%?[m
B. Both [As] and [R] are true; but [R] LAs]
is not the correct explanation of C. [As] W&l &, o [R] Terd
[As].

D. [As) T &, W [R] ¥ &
C. [As]is true, but [R] is false.

D. [As] is false, but [R] is true.

__/
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8. If '~ stands for addition +* for 8. afg «— F1f g <+ w1 AT O
multiplication ‘+* for subtraction and ‘4> T A AT I x> F AL IR
“x* for division. Which one of the W T A P 91 iR el ’?
followi ion i |

Ing equation is correct? A 5+2-12+6x2=13

A, 5+2-12+6%x2=13
B. 5+2-12x6+2=10

B. 5+2-12x6+2=10
C. $S+2+12x6-2-4 C. 5+2+12x6-2=4
e e D. 5-2+12x6+2=27

D. 5-2+12x6+2=27

9. From the following two different 9. g % frfcifad < srem ot W A
appearance of a dice, which Number o o o 5 2 & faadia 82
lies to the opposite of 2? 5 5

S ) 4 1
4 1 1 2
1 2
A1l A
B. 5 B. 5
C. 6 C. 6
D. 4 D. 4

10. Arrange following terms in logical 10. F=ferias ugi =t auﬁa;q ¥ ST3T-
series- (@ 2
E:)) go (b) 20
© 6 (c) 6.

@) 12 @ 12
(e) 30 (e) 30
A. a—c-d-b-e A. a-c—-d-b-e
B. a—d-c-e-b B. a-d-c-e-b
C. a—b-c-d-e C. a-b-c-d-e
D. c-a-b-e-d D. c-a-b-e-d

»o ® ® P Space For Rough Work / TF FRTE R R ® © «
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11. What will be the next letters in series? 11. Jvft 3 o7l Ig B A B
C,FILL,O,---

203 C,F,LL,O,---
xS ® P 9
A. Only1 | (1) R av) s
B. Onlyl&I ‘ A fah1
C. Only I & III ' B. Rrb1qurn
D. Only III C.‘ R 1 e 111

D. R Im

12. Choose the figure which is different 12. 39 el A AT, I A R -

from the rest-

A X - @ A. .‘X ;
) (3 X B. s X
B. | » X e
— c. X x
C. X X . .
— D.° x
B ‘° 'x X
D- [ 3 .

13. If DONE = 4-15-14-5 then what is 13. afd DONE = 4-15-14-5 " ‘FINISH' #
‘FINISH’? 2 wefRte a0
A. 6-9-19-9-14-8 . | A 69-19-9-14-8
B. 6-9-14-9-19-8 8 ¢0145.19:8

-9-19-9-14-8
e C. 6-9-19-9-14-8

D. 8-9-14-19-9-8 : A
: D. 8-9-14-19-9-8

-
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14. Read following statements carefully 14. = fg Tg Frl A AGEF TG [As] Th

l[)ASJ c;'s Assertion and [R] is Reason FUYF & qUT [R] T T Bl SHT HYAT
ased on statement choose correct ST Eﬁaﬁmﬂﬁq

option- ® )

Assertion [As] : Next letter in F [As]: FPRC,E L L 20

séquence C, F, I, L, ?is O. 92 O B

Reason [R] : Sequence shows every e [R] : 3TTFFH, ST ELLISIE LR R

third letter in alphabet. e ot sramar 2l

A. [As] and [R] both are correct, and

[R] explains [As], A. [As] 3 [R] AT &R E, [R], [As]

B. [As] and [R] both are correct, but T B o

[R] does not explains [As]. B. [As] 3 [R] HT T €, T [R], [As]
C. [As] s correct, [R] is wrong. Y =T T T 2
D. [As] is wrong, [R] is correct. C. [As] @2, [R] Terd Bl

D. [As] TE@ 2, [R] @& 21

15 Find out which of the figures (A), (B),  15. T & Ry e gahel & & o a1l
(C) and (D) can be formed from the (A), (B), (C), (D) TS ST Hehelt 87
ieces given in figures- '

Nl | =4

>
>

> <)
> <)

O

o
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16. Which words can not be constructed 16. ¥ ‘INCREDIBLE’ & ﬂ?ﬁWTzﬁ

from the word ‘INCREDIBLE"? ST T Tl 87
() RED 1) RED
(II) NERD
(1) REBEL (I} NERD
(IV) ABEL (I1) REBEL
(V) RIB (IV) ABEL
A. Only Il (V) RIB
C. IVandV - B RV
D. All words are possible
C. IVaRV
D. @l g Ta ?
17. Choose the correct option to Comialete 17. e bt ot e v Wel forshed 9T
the picture- .
—— A.
A.

4NN

AI-NIENIE

<o ® ® @ Space For Rough Work / T F1 % 1 wrg RRDe-
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18. What will be the next pair in the
sequence?

20T, 18R, 150, 11K, ?

A.
B.
C.
D.

6F
SF
6E
SE

18. fam argrw Y TTeft gt = vt
20T, 18R, 150, 11K, ?

A.

B
C.
D

6F

. SF

6E
SE

19. Arrange following in correct
chronological order-

(a)
(b)
(c)
(d)
(¢)
A.
B.
C.

D.

Year
Week
Month
Fortnight
Day

e<d<c<bxka
e<b<d<cx<a
e<a<b<d<c
d<e<a<b<c

19. F=fafad = q€ wesr o SHTEe-

(a)

e<d<c<b<a
e<b<d<c<a
e<a<b<d<c
d<e<a<b<c

20. In the following question, find out
which answer figure completes the
figure matrix?

o

+ | O

+

0o

O

+

l>+DO

20. fr=ferad war &, a1 @ fo @t W
arepfa fRg T smrapfer Afger QU Flt
LY,

O

+ (O

+

0o

' O

+

[>+DO
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21. Identify the diagram that best 21. ﬂ%ﬁﬂwa’ﬁ*iﬁ?mﬁmm
r?presents the Relationship among Y T A 3N T 789 H-
classes given below- ST
Mountains, Forest, Earth T, , Vel
A,

")
@

C. <:§:§:> | | c.(:§:§:>
D.<:::> 0 D.<::> O

06

22. Arrange the tasks ina 10&&1 22. fefiaRa STt i T & T 6 3w
sequences of planting a tree- # SHTSu-
E;)) Dig a hole (a) T ST WY
Water the sapling N s
(c) Place the sapling in earth (b) _uﬁﬁaﬁmﬁ
(d) - Cover with soil ; ORRLEILHERICEH
(e) Fertilize the soil @) drHrgH A gine
Al a—c—d-e-b . () Priiwm et
B. a-b-c-d-e A. a-c-d-e-b
C. a-b-e-c-d B. a-b-c-d-e
D. a—e-d-c-b C. a-b-e—-c-d
D. a—e-d-c-b
/
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73. Find the Number of triangles in the
given figure-

/\

23. fRu g fomr & Byt & v gra Fifm-

A

AWA

A\VA 2
A 12 .
B. 18

& 14 C. 14
D. 15 D. 15

. Select the odd figure which is 24. 39 fow ST 1 T TS 7 &

different from others- T 8-

VWA [WW

Vv [W ]| AN | VWW

25. 'What comes next in the series? 25, SYof} ST AT Y T BT
0,3,8,15,24,7 0,3,8,15,24,?
A. 36 A. 36
B. 35 B 35
C. 34
C. 34
D. 30
D. 30

T o ® ® O Space For Rough Work / FFE & ferdsme B @ @  »
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26. What is the Number of straight line in 26. fw o for # wieft Ywrett i @EAT I

the given figure? )
A. 12
B; 3 A. 12
C. 15 B. 13
D. 18 C. 15
D. 18
27. Which number does not follow the 27. T F1 3 Fe & TR TE 22
g?tgzarlr;‘?, 20, 3045 ) 2? 6, 14, 20, 30, 42, ----
A 6 . A. 6
B. 20 ' B. 20
C. 30 C. 30
D. 14 D. 14
28. What is the next letter in following 28. faerferRaq Sioft & orre avem @ B
series? P,N,L,JH,ome
P,N,LJ,H, - '
A. 1 A
B. D B. D
C. F C.F
D. E D.E:

.o ® ® & Space For Rough Work / T6 4 % Rt sye Yy -
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29 Identify the odd one out- 29. ferem 1 wE=T-

A. Car A. TR
B. Bicycle B. aTgETifHS
C. Truck C. =
D. Ship
D. S&s
30 Which of the following has similar 30. fer & & Rt Gy 7 : TR ¥ WHI B2
relation as River : Ocean? () werfenea ; fagfaaea
(I) College : University M) . 3
an
(II) State : Nation () 9y
(III) Gas: Air . e
(IV) Vegetable : Food (IV) wesit
A. OnlyI . A, Rb1
B. Onlyl&II B. ey
C. OnlyL1L & Il 4 C. R, AT I
B 4L LI AV D. I II, I qur IV @t

.o ® ® & Space For Rough Work / G FEFRATE R R ® » -
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PART -1I

General Knowledge AT T
31. For the below Assertion [As] and 31. frfrRaa e [As] T FR0 [R] % fem
Reason .[R] choose the correct e ARCC ot ﬂe[
izzznr:itcl)\rfle[-As] After the revolt of T [As) 1857 % T S
: evolt o 1 e
1857 the British abandoned the old TS FHTCHI # mﬁwm
policy of helping social reformers. B dl
Reason [R] : His opinion that the T [R] : 301 et o1 foF areft srar &
abolition of the Sati System, T farerat qfefaTe < ST e guT
permission for widow remarriage and Q;W 1857 ¥ PER F u=
other social reform measures were the g e
main reasons for the revolt of 1857, FOA
A. Both [As] and [R] are correct, and A. [As] @ [R] a1 e %, 3R [R],
. [R] is correct explanation of [As]. [As] 7 T fer B
B. Both [As] and [R] are correct, but : i : R
[R] is not the correct explanation B. [As]TTIR] aﬁ:ﬁaﬁ%%ﬂ (R}
of [As]. [As] 1 @t farawor =1t &)
C. [As] is true, but [R] is false. 'C. [As] @&}, T [R] T4 B
D. [As] is false, but [R] is true. D. [As] 7ol 8, T [R] T 8l
32. Which of the following types of Yoga 32, ﬁﬂ"ﬁ:#@«?mﬁﬂgﬁﬂmﬁ e
primarily focuses on physical postures e R YaTe fEoT (FToTT) W
(asanas) and breath control Fhgg @
(pranayarr.za)‘? A s
A. Bhakti Yoga
B. Karma Yoga B. FHam
C. Hatha Yoga | C. B
D. Gyan Yoga D. TR AN
; -
& ® @ @ Space For Rough Work / % 1 % 72 srg RR D
‘ | 1
| P ¢
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33. What is true for hemoglobin? 33. dreife F IR H e 5 ¥ = ad 2

D 1t circulates oxygen in blood. (I) T8 ThH | AT T H=T HLAT 8
(g) It is iron containing compound. (1) T8 e I A R
(1) 1t provides immunity against (U1t T 5 it 35 Ry et ST e
some diseases.
(IV) 1t gives red colour to the blood. & ,
A. L1111 (IV) € Th ! AT {7 NS Helt 8
B. LI IV" o A LILIT
C. I1, III, IV A B. 11,1V
D. LI, 1V o C ILIL IV
, D. LILIV
34. Match the allocation of Lok Sabha 34, e % HiEh o AT &l g fera
seats to their respective States. iR
Column -1 Column - II T - 1 FHTAH - 11
(States) (Number of — mﬂ
' seats in Lok =) —i
Sabha) Het <ht Em
(a) Madhya Pradesh (I) 48 (a) WEASRET () 48
(b) Chbhattisgarh a 11 - AR m 11
(c) Maharashtra 11 10 (®) (II; 10
(d) Haryana (IV) 29 (c) HERTS ()
Choose the correct answer from the (@) ®f@m@m . AV) 29°
options given below- e R e frepedt 8 @ wdt ST H-
- A. a1, b, c-11, d-IV A. a-1, b-II, c-III, d-IV
B. a1V, b-l e, d-1II B. a-IV, b-1I, -1, d-III
C. a-IV,b-1II, c-11, d-I
D. a-IL b-, c-IV, d-III C. a-1V, b-III, c-II, d-I
D. a-Il, b-1, c-1V, d-III
v o ® ® P Space For Rough Work/ FFIFRRATE R R ® © «
: N
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rrarele T Y R e % 9 T ey

35. On the banks of which river did 35.
Mahavir Swami attain Kaivalya? & e g7
g. IS\Iiranjana A, B
. Sone
C. Ganga B. @H
D. Rijupalika C. T
D. ATl
36. Match List - I with List - II and select 36. w=-1 =1 G-I %mem
the correct answer from the code = ¥ ) fog 5z @ v sm g
below t'he list. E‘E I
List-1 List - IT
(I) Salt Lake Stadium (a) Cuttack () WEIFERT () FF
(II) Barabati Stadium (b) Kanpur 1) sREdTRREEH (b)) FEX
(1) gcred?n Park (c) Delhi (111 e 9k e feTm (c) faeeh
adium AT
(IV) Arun Jaitley (d) Kolkata e I =R () -
Stadium A. 1-d, II-a, III-b, IV-c

A. 1-d, II-a, III-b, IV-c B. I-c, II-b, Ill-d, TV-a

B. I-C, II-b, IH-d, IV-a C. I-a, II-b, HI-(;, IV-d

C. I-a,II-b, Ill-c, IV-d D. Lb, Il-a, i 4, V-c

D. I-b, II-a, IlI-d, IV-c

37. Rutherford is famous for the discovery  37. W1 frm anfareann & forg wirg g

of- A. T
A. Nucleus B. @

B. Wave _

C. Quantum - C. S

D. None of the above D. ST A & &8 7

. ® @ & Space For Rough Work / T %1 % R we oy @‘m ‘ __
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38. Which of the following is not a 38. fr=fafed @ @ w1 sEge 7 it wEeas
tributary of Brahmaputra River? T TR B2
A- Manas A. AFE
2. Lohit B AR
D, Zozs g c. ¥
. Subansiri
D. geafed
39. Which of the following is not an 39. foferfem 5 & weumTe Gt T &
institutional agency? A, ger aiafeat
A. Commercial Bank 1 B, RET & o S
B. Commercial and Regional Rura
Bank C. W—é
C. NABARD D. 33§
D. Indigenous Banker
40. Arrange the following rulers in the 40. ﬁﬂ%ﬁﬁmﬁaﬁw
correct chronological order- STER HE 57 o ST
(a) Balban (a) S
(b) Aram Shah
(c) Razia Sultan (b)) STRIEANE
(d) Muhammad Bin Tughlaq (c) T a7 o™
(e) Alauddin Khilji (d) Egzx{af%m RS
A. a=>c—ob-od—oe (e) RGN Raersit
B. b>c—a—e—d A. ascob—oad—oe
C. boa—>c—>d—oe B. bsc—oa—oe—d
D. c»>a—b—e—d C. boascadoe
D. c»a—>b—oe—d

s ® P @ Space For Rough Work / T6 %4 & fo1d 58 @ BHw

T N 1111111111

E—
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41. Which of the following is the correct

42,

B

41, foer it & YT I & 1 2y

order of coal producing regions from FeC ) 31 T e A 8-

South to North?

(a) Talcher () HE.IE'(

(b) Singareni (b) Tt

(c) Neyveli () et

(d) Korba @ B

(e) Bokaro ©

A b>c>d>e>a

B. a>d>c>b>e A. b>c>d>e>a

C. c>b>a>d>e B. a>d>c>b>e

D. c>a>b>e>d C. c>b>a>d>e
' D. c>a>b>e>d

For the below Assertion [As] and
Reason [R] choose the correct

is not the correct explanation of
[As].

C. [As]is true, but [R] is false.
[As] is false, but [R] is true.

O

42. Frerfirfa oo [As] s Fm g

alternative- fera et : *T3 Eh:t
Assertion [As] : NCF 2023 suggests HFUT [As] : NCF 2023 Foma 33
that Yoga Education should be made a v e bt Sl wigEeEt & s
compullsory part of the school WO ST ST SR
curriculum ‘ -
' R [R] : TR T Ay w@reeg s

Reason [R] : Yoga education is :
essential for promoting physical and | T & % fore v e stravas 83
mental well-being and its benefits TR T AT R off R
extend beyond the classroom., A. [As]WE [R]SF g & 3 RL [
A. Both [As] and [R] are true, and T el RO R

[R] is the correct explanation of ) :

[As]. B. [As] W [R] 3t ex €, & [R],
B. Both [As] and [R] are true, but [R] [As] =1 5&t o 78 2|

C [As]_W%,éﬁr-r[R]ma
D. [As] 3w &, 9% [R) var Bl

«% ® @ @ Space For Rough Work / 76 #d & f¥rd srg RPDw
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43. Direction : For the below Assertion

[As] and Reason [R] choose the
correct alternative-

Assertion [As] : The Directive
Principles of State Policy in our
Constitution have declared Justice-
Social, Economic and Political.
Reason [R] : Planning aims to
promote development and ensure
Socio-Economic Justice.

A. Both [As] and [R] are true, and
[R] is the correct explanation of
[As].

B. Both [As] and [R] are true, but [R]

is not the correct explanation of
[As].

C. [As] is true, but [R] is false.
D. [As]is false, but [R] is true.

43.

fadar: 2 g Te e [As) 3 FRT [R)

1 IgaR Tl fershe -

FUT [As] : TR wiam # Hifq Féwes

frgiat & =Tg-aTe, i ikt

WECIRERICUIET A

1T [R] : Frem & e =01 M@ 1 &

gry-aTy g 3 orfile =

gﬁﬁaawqtaaﬁmw%l

A. [As] 3T [R] 3T & €, M (R],
[As] 3 TE AT AT

B. [As] 3 [R] 3HT @&l &, A [R],
[As] %I Gt =amE e 2

C. [As] @& ?, AfSR [R] Terd 2

D. [As] Terd 8, &fehd [R] @& 8]

44.

According to NEP 2020, what is the
ultimate goals of sports education in
schools? '

A. To produce professional Athletes.

B. To promote physical fitness and
overall development.

C. To focus solely on academics.
To reduce stress.

o

44,

NEP 2020 % 3TJ8T, e § Get frer 1
s aeg FTe?

A, T TuEiE A9 T

B. YR freaw o oo e =t
CAEIRE |

C. ¥ae frem W e 3

D. T shH ATl

13-2205-DESR25-ENT-EVE
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45,
S Arrange the following events in the

correct chronological order related to

National Income and Per Capita

Income in India-

(I)  Beginning of National Income
Estimation in India.

(ID In_uplementation of Economic.
Liberalization in India.

(ITII) The Indian economy has become
the fifth-largest economy in the
world. .

(IV) Launch of the First Five Year
Plan.

(V) Formation of NITJ Aayog.

AL LIV LV, T

B. IILLII, V, 1V
C. LILILIV,V
D. IL I IIL IV, V

45.

1= R 7 TreATRAT Y 3R HE
oRH ¥ AT L, I
g 37 A s S o @ wafig
(1) TSI 3T ST 1 ATe]
(II) R & Arfelen IerieRter A 2
(111) W Srefeararea forvar & aiere
Y srefegaen s

- (IV) YT # veEta T i IE|

(v) e emanT &1 T
A, LIV, 1LV, I -
B. 1L LIL V,IV
C. LIULILIV,V
D. ILLILIV,V

. Direction : For the beldw Assertion

[As] and Reason [R] choose the
correct alternative.

Assertion [As] : All the rivers .
originating from the Western Ghats
and falling into the Arabian Sea form

Waterfalls.

Reason [R] : The Western edge of the

Western Ghats mountain range is
steep and fast sloping part. -

A. Both [As] and [R] are true, and
[R] is the correct explanation of

[As].
B. Both [As] and [R] are truc, but [R]
is not the correct explanation of

[As].
C. [As] is true, but [R] is false.
[As] is false, but [R] is true.

O

6.

it : 9 Rumu e [As] e

[R] % fore wet forepea -

FUYT [As] : IR e | e areit 3

s AT A PR At et et S

1 frmtor et

RO [R] : TRt =T qeaare &1

A. [As] 3R [R] A Wt €, 3k [R],
[As] R el

B. [As] 3K [R] 3Nl ¥t &, T [R],
[As] ot Het ST & 21

C. [As] W &, =g [R] T B
D, [As] e &, T [R] & 2

o ® B 6P Space For Rough Work / TFF@ F R P B @0+
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47.

Which of the following ideal is
Mentioned in the Preamble of Indian
Constitution?
Social Justice
(II) Economical Justice
(1) Political Justice
(IV) Social, Economical and Political
Justice

A. Tand II only

47.

Tt Efery s SearaET A afifa eaest
FaFaTd?

(1) IR A"

1) 3T =

(111) TR =

(v) g, 3filen ot Teriees =

A, FEAITI

B. Fa@1d1I

B. Tand III only B. '
C. Tonly C. Fadl |
D. IV only D. FAIV

48. Sequence the following stages in the 48. NCF 2023 % 1gar fRraren afiveqor
correct order for integrating value sk & e fRre ! T A &
education into teacher training fere e <ol =1 e 75 & e
programs as per NCF 2023. -~

(a) Understanding the importance of
value education. '
(b) Practicing value-based teaching

(a) e e & e Ht FHE
(b) -3y fRreror farfer < anam

methods: . F
=t (& et e
(d) Assessing the impact of value T

education. (d) T e & e & SR
A. a,cb,d A. a,¢c,b,d
1(3: ::zzz:i B. a,b,c,d
D. a, d,b,¢c C. adcb

D. a, d,’ b, c
o ®® @ Space For Rough Work / T FE F RATTE R ® @ o +
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49. In which'amendment the right to 49. %Mﬁﬁi ! f i
property has been removed from - g deE arforfaam g & TR
fundamental rights? \ A 4%

A. 42 ,
B. 43rd B. 43%
[ C. 440 - C. 43
D. 24™ D. 249

S0. Arrange the following cities (year 50, Frer Tt b1 9 Q T (T STIER)
wise) as they organised Olympic et Gt manfera farg -
games- 20
1896, 1900, 1916, 1920 1896, 1900, 1916, 1520 -

(a) Antwerp (a) T
(b) Berlin (b) e
(c) Paris (c) i@
A' d, sbs .
B ; 2 A. d,c,b,a
c c’b"a’d‘ | B. ¢,b,a,d
Y :’ ’(‘;’ | C. a,b,c,d
» HHGE, D. b,a,d,c

—e ® ® B Space For Rough Work GFAFRRATR P D ®e-
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PART - III

Educational Interest Rreror arferstr

) —

51. When a students learns a lesson 51. s farereff fofeht ar Y F@ferg e &
because he is interested in it and he FiRR 3a Seeh! T § auT W U A
gets happiness by learning that lesson ey frereht &) T FHTT
the main reason for this is- = il ™ |
A. Intrinsic motivation o
B. Extrinsic motivation A, : ,

C. Self-determining - g - B. Ty ARG
D. Usefulness -~ ' | C. rew-fruft

52. What is the first step in adaptingto a - 52. e # felt 73 wRtRurfar & g
new situation in the workplace? T FIUEAT FEH FTE?

A. Accepting the Change with a HFIH STPIT IR
positive attitude - A. TR s :

B. Developing a plan to handle the
change | B. Sqama ¥ fRuea % fre dem s

C. Evaluating the new situation and - C. TERufys TR AT 3R
understanding the challenges | ' f{ﬁﬁ'&’f Fr g

D. Seeking feedback and L,
continuously adjusting your, D. reeteh g ﬁ“\' A9 g
approach | | AR TR T

+&®@® P Space For Rough Work / FFRE % RA T R @ @ » -
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53. Which of the following set of

statements represents acceptable
propositions in respect of teaching-
learning relationships? Choose the
correct code to indicate your answer-

(I) When students fail in a test, it is

the teacher who fails.

(II) Every teaching must aim at
ensuring learning.

(IIT) There can be teaching without
learning.

(IV) There can be no learning without

teaching.
(V) A teacher teaches but learns also.
(VD) Real learning implies rote
learning.
Codes:

A ILII,IVandV
B. LII,III and V*

Lol IV and : LTS TG LAY, VR VI

D. L1I, VandVI

53, frefifae i & S |1 B Raor-srfion:

st v f e v

yfaffire st 82 o0 ST F0 &

fre =& e -

(1) v o e ol & erae B ¥
0 Rrares rEHe BT R

(1) el o ot SREw A

- gffeea w d =fey

(111) 7 o T fRveqor 8 gt )

av) Rregor ¥ far AR 78 & v

(V) U fRreer ugrert @ wifen Hie of 2

(V1) Fefarsh SR T qTed T

HiE 8l

e

A ILILIVIRYV

B. I, 11, III aﬂt.v

D. LI V&R VI

»o ® @ &P Space For Rough Work / T6 %14 & 7 e R®ow.
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54, 1

- (d) Nurturing

M{itch the correct pair of teacher
attitudes (List - I) with their
Corresponding descriptions (List - II)-

List - I List - II
(Teacher’s (Description)
Attitude)

(a) Authoritarian (I) Provides
emotional
support and
care to learners

(b) Democratic  (II) Frequently

criticizes and
labels students
(III) Demands
obedience,
discourages
learner input
(IV) Encourages
students’
participation
and
collaboration
(V) Shows lack of
concern for
student’s
progress
Choose the correct answer from the
options given below-

a-II1, b-1V, c-V, d-], e-II
a-I1, b-111, c-1V, d-V, e-1
a-V, b-1, c-II, d-11I, e-IV
a-IV, b-11, c-1, d-V, e-III

(c) Indifferent

(e) Judgemental

Cawy

54. feren & gfeetor (gt - 1) F T S A

Ik Wt ferareor (g=h - 11) @ fremd-
g1 - 11
(Frereh =1 gf¥enron)  (fererom)

() FIfFAmEeRaE (1) Rrefiat wr

TIATeA
U oK
@A ITH

) T &l

(b) SHAIH (1) ST BTAT Y
TS ST
t AR I TEa
FT 2l

(I11) AT T -
HiTT T €,
framef & T
CARRIRGHI]

| B G

GIRELECEIS] (IV) BT &I

e ot
TEAT
reaTied el

- H

(V) ST st Tt
- iy R
1 famar 31

A R 7 forereat # & wEt SR

A. a-III, b-1V, c-V, d-], e-II

B. a-II, b-III, c-IV, d-V, e-I

C. a-V, b-], ¢-II, d-III, e-IV

D. a-IV, b-I], ¢-I, d-V, e-III

(c) T

ORENEIRET

. » ® ® & Space For Rough Work / FFEFRRATER ® ® @ «

- nESRZS'ENT-EVE

(ITHE T TGt
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S5,

Which of the following attributes

denote great strengths of a teacher?

(a) Full-time active involvement in
the institutional management

(b) Setting examples

(c) Willingness to put assumptions

- to the test
(d) Acknowledging mistakes
Select the correct answer from the

55.

Rrefrfaa & & i € forrvard o fg

) HET FRAAT B G &2

(a) T e # qUiehTiersh wfig
e

(b)  SETERT TR HTAT

(c) et s qrEd i 5=

(d) Tt Y TR HTT

codes given below- 13 fag g e @ wET S iﬁ
A. a,bandd A. a,b3Md
B. b,candd B. b, c3ftd
C. a,candd C. a;c3ﬂ'(d
| D. a,b,candd D. ab,c3d
56. Which of the following is different in 56. e ‘H’FL%' T gwar &t Sttt |

techniques for improving group FIT AT R? ‘
relationships in the classroom? , - :
A. Effective and able teachers B ' T A

- B. Proper communication B. 3t UL
C. Dictatorship teachers C. e fReres
D. Counselling centres D. IS Fg

+® ® @ @ Space For Rough Work / GTFEFRRATE R S ® ¢ -

i~ N -~ catl
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57. Which set of learer characteristics
may be considered helpful in
designing effective teaching-learning
Systems? Select the correct alternative
from the codes given below-

(I)  Prior experience of learners in
respect of the subject.

(II) Interpersonal relationships of
learner’s family friends.

(III) Ability of the learners in respect
of the subject.

(IV) Student’s language background
(V) Interest of students in following
the prescribed dress code.

(VI) Motivational-orientation of the

students.
Codes:

. LII Il and IV
I, IIL, IV and VI
IL, IIL, IV and V
III, IV, V and VI

oowp

57. svreft Rragor-etftrm sorreft =i fesmgT A

7 Rremeff fergroaedt & forw wg 1
HEIF W 1 The 82 A= Ry e &

Tt foreew -

(D) Forwa & wev & it # q@
AwE

(1) Freareff 3 wrfaiies st & areafen
ey

(I11) forwm o deir & frenfeigt s Frean

(IV) B 1 WIS T8V

V) Tuif 39 #ie %1 ITer & § BT

Y &= |
(VI) BT T S-SR
A. LILIIARIV
B. L1II, Iv_aﬂtVI
C. ILULIVARV
D. I, IV, V3R VI~

__— o ® ® R Space For Rough Work/ TFIFRATTE R @ & ® «
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58. Match the Psychologist and learning

58.

TR o S FTT ST Hien

theories propounded by them- Rrgfat =y gafera -
Column -1 Column —II e - 1 I - 11

(a) E.L. Thorndike (I) Insite theory ngl'ﬁ Fﬁ'@?{
of learning (2) i@ @ T

() LP.Pavloy  (I) Operant T fegfy
Response (b) o, o, qEEE (1) ATRfed
theory Pt gy

c) B.F. Ski III) Tri :
©) mner (I Z;r‘gi :}?So ©) FTERER (1) FETER
ry _ -
(d) Kohler (IV) Classical ‘
~ conditioning @ HIER (IV) FAieee

theory rgey fagre

Choose the correct answer from the aﬁ%ﬁumﬁw ir@r H?f'ﬁ'(ﬁef

options given below-

A. a-III, b- IV, c- II, d-I A a-.III, b-IV, C-H, d-I

B. a-III, b-IV, c-L, d-II B. a-IIl, b-1V, c-1, d-II

C. oI, b-[; 1L, d-IV C. a-Il b-1, c-II, d-IV

D. ,a'I, b'II, C'III, d'IV D. a'I, b'II, C'III, d‘IV

59. Intrinsic motivation motivates a 59, reafc ST s A it &

person from within. Which is not
related to intrinsic motivation-

A. Anxiety

B. Need of Achievement
C. Level of Aspiration
D. Praise

T A B ST ST & &
uw?ua%‘f%? |

A. o=

B. mﬁuaﬁmm

C. TTHIET &R

D. S

__—

— . _.-—L W Arl /mar&%ﬁ'ﬁw @ @ @ w
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), If the speed of learning of a students is
slow in the initial attempts and the
speed increases in subsequent
attempts, as a result of which the

learning curve rise rapidly, then it is
called-

A. Curve of equal returns

B. Curve of increasing returns -
C. Curve of decreasing returns
D. S-shaped curve

60. Tf o ¥ Yoy o e & e i afa

dfieft 39 e 3 et & Sweh i i B
Tt &, R wereawy freror a5 ast &
e 33a &, freor a5 e < 8-

A, gA fsare o
B. FyA™ fAwameT o
C. g™ s 7%
D. TH-ATFHRT T

-8 ®® @ Space For Rough Work / THFH & I 7T @R ® @ o «
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61. Match the following Theories with

their Theorists/Descriptions:

(Theories)  (Theorists /
Descriptions)

(a) Holland’s- (I) Interests
Theory of shaped by
Career Choice  early

childhood and
parent
relations

(b) Life-Span  (II) Career
Theory of development
Career through stages
Development.  and life roles

(c) Anne Roe’s (III) Personality
Personality types match -
Theory with work

environments

(d) Theory of (IV) Work
Work adjustment
Adjustment based on
(TWA) satisfaction

and
satisfactoriness

(¢) Krumboltz’s (V) Career
Social decisions
Learning influenced by
Theory learning and

experiences
Choose the correct answer from the
options given below-*

A. a-ll, b-11, c-I, d-1V, e-V
a-II, b-111, c-1, d-V, e-IV
a-IIl, b-1, ¢-11, d-IV, e-V
a-1, b-II, ¢-I11, d-V, e-IV

o aw

- | .
(a) %i‘mmm (I ==
fRyarea o1 g ATaT-fan ¥

Hart &

FEIEG]

Tt

) FRem fawma (1) = ik

Seerrer forgia Sicc)

: | CGEIE K
AT Y
FRe foam

() ThIF AT (ITT) fFeT

:r) THR F1
| | AT
ERRCIR
(d) T THTAN 7 (IV) EgfE ok

e (Twa) i
HYRX R H
TR
() TSI E  (IV) e o
TR 1Ry T A
Rrra M IEGEIE
Aot
e R e forret % & wl s -

A. a-III, b-11, c-], d-IV, e-v
B. a-Il, b-I1I, ¢-I, d-V, e-IV
C. a-lll, b-I, c-II, d-IV, e-V
D. a-l, b-II, ¢-III, d-V, e-IV

‘¢ ® @ & Space For Rough Work / G FRHRRATE R R ® © -
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62. Student-centered classroom is for---

A. To reduce the discrimination of
individual differences

62.

BT T FHET wmmmee F fog At 21

A. SRR AR F W FH FH FHET

| B. To reduce teacher-oriented B. firer q¢ TG 1 7 FAT

| lectures C. o 1 1 farmor s

- C. To forget the prior knowledge D. T e i GiAfrd w
D. To involve the whole class ,

63. When students do not pay attention to 63. e fRrammeff e & ygTe I TRt fowa W
the topic taught in class or stop F T T W} E g T I I
revising, the learning process slow ¥ A drad B i g B o 2 ot
down and we tend to forget it. 3‘1& T & e R T T
A. Law of disuse I STl &l € [ et )

B. Law of use A, Q‘W’TWﬁW |
C. Law of effect B. 3w fam
D. Law of satisfaction C. wvE & g
D. &%
4. Direction : For the below Assertion 64. 333 : F=faRas e [As] SR T&
[As] and Reason [R] choose the [R] & fore wet forme gﬁq
correct alternative- STFYT [As] : Rrer o w2t
Assertion [As] : Both Education and [As] ;g 5
Psychology are related to behaviour. T FY AR | @ e A SaEn
Education changes human behaviour giEa i 39 IUH ST &l
and makes it better. @& [R] : UH AR ¥ & R e § I
Reason [R] : Progress in life is made £ T R
through religion and wealth. _ . .
A. Both [As] and [R] are true, and A. [As] 3 [R] 31 e &, 3R [R],
[R] is the correct explanation of [As] T TEt TIEieRT 8
[As]. B. [As] 3R [R] qH1 wEl § W [R],
B. Both [As] and [R] are true, PF,: [;1] [As] F7 T TqEERor 76 3
' ct explanation of [As].
1s not corree eXp =¥ C. [As] Wel &, T [R] Tl &1
C. [As]is true, but [R] is false. R N
D. [As] is false, but [R] is true. D. [As] e €, 90 [R] Wt @
> .o ® ® G Space For Rough Work / FFRFRRATE P R ® 0+
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65. Assertion [As] : People with social

vocational interest prefer working

with others to help them learn or
grow. '

Reason [R] : They are often drawn to

solitary work environments.

Choose the correct answer from the

following options-

A. Both [As] and [R] are true, and
[R] is the correct explanation of
[As].

B. Both [As] and [R] are true, but [R]
is not the correct explanation of
[As].

C. [As] is true, but [R] is false.
D. [As] is false, but [R] is true.

65.

TR [As] : TTHTIR SATIHILF, 3y

T i ey A1 g H 7  fo g

¥ TTY I FHT THE FL 2

ST [R] : 3 TG TR F1d ST Hy

AR AT Bl B

$r fw o Rreredt # & 98 I -

A. [As] 3 [R] 21 §eF &, AR [R],
[As] %1 T2 TIEHT 2l

B. [As] 3K [R] 3F1 &3 g, A% [R],
[As] 7 T THEHT 721 2

C. [As] §F &, AfFA [R] S R)
D. [As] 38 €, |l [R] 9 3l

66. When a student learn a topic without 66. v o e T =Rt o foreft iR
any definite purpose or desire, then it R AT BT H & 3 AT m@—“—; 3
is called- a'a' = e ST -

A. Incide'ntal learning | A sf

B. Learning by observation R

C. Intentional learning B. &TUTW JicEL

D. Learning with pleasure C. T HiEr
D. gt & €@

__/

.»® ® @ Space For Rough Work/ GFFFfRTE R R ® -
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'67. Which of the following is NOT an

{
M
!
|

67. saraTiae: wfwt i o = wag

effective strategy when developing FrfRae & & 7 o wrhfy et 7

vocational interests? &

A. Experimenting with internships | ER i -
and volunteer work A. ¥R & A

B. Researching the nature of different R '
professions B. ot srammdt o syt o i v

C. Focusing only on personal hobbies C. At S Y 7 7 A o R
without considering job market : :
demand %ﬁawﬁma’ mwm%ﬁa‘m

D. Consulting with mentors or career D. HETERRI a1 HRET RIHHTATSHT &
counsellors T ST

68. What was John Holland’s theory? 68. ST gicie w1 Rrgia wT oMo :

A. That people’s optimal careers are A. N FT TEAH HRITITF Arar-frem
the same as their parents. dar e Y

B. That th i liti f ; .
working people sy o B. T i & o e 818,
into six work environments. B8 i araTeRon # firer S )

C. That roughly 1/6 of the population C. T 1/6 TS TYTEe it &
was designed for administrative s Y SEIEY ST 3
jobs, while the rest are better for g % ' 3 TR, m

~ labour. T&l

D. That job happiness has nothing to D. f=w & Tt F g o FIE -

~ do with personality, only income T T R, et oy 3k TRET Y )

and prestige.

+o ®® G Space For Rough Work / T %/ ¥ Rt srre RBB®®o.
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S I PEASLRES
69. Students are unaware of vocational 69. T TR 1 : ﬁwmﬁﬁm
goals in school stage, but teachers FARE B & éﬁ:r Bftem
motivate students towards a certain e &t S A RSN
professional goal keeping in mind AT A ) I ARG A 8/
their ability and capacity. So this : sy Pifaren ITATRY T IV Teqy
affects the academic achievements of TE@ oA
students- -
A. Favourable effect A, FTEA T
B. Ad ffect :
\{e.rse effect B, sfiege v
C. Positive effect A -
D. Negative effect : G )

D. TEHRICHe TS

70. McDougall has described 14 types of 70. W‘l’:’{ﬁm?ﬁ 14 W’U’ﬁfﬁﬂﬁﬁa

basic instincts of a child and their 3T TS G T 0 feram ®) e
“relationship emotion”. Arrange the gt Y G I TFHEE S
five main “relationship emotions” in a @

sequence- . T

(a) Tender Emotion (b) 3hI

(b) Anger ' (c), gyou

(c) Disgust

(d) Distress d) =2
1 .
(e) Fear | (e) W&
A.-a>b>c>d>e A. a>b>c>d>e
B. e>b>c>a>d B.e}b>c>a>d
C. a>b>c>e>d C. a>b>c>e>d
D. d>c>a>b>e ' D. d>c>a>b>e
' __—
~& ® ® P Space For Rough Work / T6 %1 & i@ se RPR®o-
saospesresenteve  se ||[IIIINNINC® o s
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71.

Arrange the experiments “associated

instinctive action” done by Pavlov on

dog.

(a) Providing food.

(b) Salivating without food.

(¢) Ringing the bell.

(d) Ringing the bell and not giving
food.

A. d>c>b>a

B. a>b>c>d

C. c>a>d>c

D. c>a>b>d

71, ATerere g0 gt T foRT T S qvars

Hew fohar’ &Y saerg R
(a) WSH Y& T

(b) TomT WISH 3 TR TR
(c) == =T

(d) == FAT 3T WIS 7 240
A, d>c>b>a

B. a>b>c>d

C. c>a>d>c
D.c>a>b}d

12.

4

A

Direction : for the below Assertion
[As] and Reason [R] choose the
correct alternative-

Assertion [As] : After performing the
learning response the child receives
reinforcement.

Reason [R] : Reinforcement has a
satisfying effect on learning.

A. Both [As] and [R] are true, and
[R] 1s the correct explanation of
[As].

B. Both [As] and [R] are true, but [R]
is NOT the correct explanation of
[As].

C. [As] is true, but [R] is false.
[As] is false, but [R] is true.

O

72. fymfrfas st [As] SR T [R] 5

fore we forpew g

IREOE] [As] : €@ i WW%

SITe ST 1 G STH Bl 2|

@ [R] : Te o1 HE™ | G-

TV 9T 2 ,

A. [As] ¥R [R] 31 wEt &, 3k [R],
[As] T @& Tqeieror B

B. [As] 3 [R] SRt wdt & T [R],
[As] =T & Tasieror 78 )

C. [As] ¥R, v [R] e

D. [As] 7o 8, T3 [R] Wet 2

+® & @® B Space For Rough Work / G FEFRAE R R ® o »
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73. The main objective of teaching should ~ 73.
e NEEEE L A
A. To prepare students to pass the T
exam C 3
B. To make students write good notes B. SO <
C. To provide necessary information C. fg @ guEfia AEawE Wﬂmﬁgm
related to the subject FT
D. To develop thinking power in b 3 Ry wifke T faerfm
students D. BmTH L
74 owi - aE
» Arrange the following tasks in the 74. = R e HmEl 3 ITHR A §
géaprg?ria:g ordez1 t(lixat blest suitts tl;e ety HIRT St STaaTE st 6
1dentification and development o qea 3R g’qﬁ:{q'ﬂqa
vocational interests- ’ ;ﬂtﬁ 2 %ﬁﬁ;;ﬁ R t
(I) Explore various career options @ : ol Rl
through experience or research Ty 3 AT & A=Y FA

(II) Identify personal strengths,
values and interests .

(III) Obtain education or skills needed
for the chosen vocational field

(IV) Seek advice or guidance from
professionals in the field

(V) Reflect upon past experiences
and accomplishments and set
priorities-

Choose the correct answer from the

codes given below-

. I-V-I-IV-II

Uuowy
<
—
|
T
o
<

(IT) SaferTTer Tehet, e ST Tferdt
T T

(IT) T 7T e & & fag
ey e Ir A I F

(IV) &7 T USIeR] ¥ TATE IT AHIETH T
FET |

(V) Tros argvat afk soafewrit m
o e iR sufierand Ruife
FTI

e T ——

A I-V-I-IV-II

B. I
C. I-I-IV-
D

.o ® ® @ Space For Rough Work / T& %1 ¥ R s PR
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75. When a student learns a skill in a 75. fRremeff foret mmaﬁ

disciplinary environment and follows T 9@ & famt e g & AT
certain rules and principles, it is called forelt Bherer =1 dies §) 97 Ry seamr
teaching- - 3
A. Formal teaching )
B. Informal teaching A. Fregor
C. Non-formal teaching B. e fregor
D. Contextual teaching C. Fruanie Reor
D. STifirs Ry
6. Which is related majors law of 76. uHeTEE % draw ¥ 1= fremi @
learning by Thorndike? qrafryg 87
A. Law of Readiness A. TEETFT ﬁ—q-q

B. Law of Prepotency of Elements
C. Law of Effects B. @ warcar o fram

D. Law of Associative Shifting C. T =1 fam
: D. HESgicHeh ST &7 a9

7. Which of the following is the most 77. =t § @ w9 st & g o

effective factor of learning? FRF 27
(@) Government policy el
(b) Motivation P Emﬁ%
(c) Aptitude ®)
(d) Interest (c) e
(e) Physical facilities | @ hrfy
A. a,band c Only : (e) ‘ﬁﬁ*ﬂﬁuﬁ
B. b, cand d Only A. ¥ a, bk
C. c,dandeOnly = B. ¥adb, c 3 d
D. a,band e Only . ’
C. & c,d3fRe
D. saa a,baRe

-e ® ® @ Space For Rough Work / GFEFRRATE R R @ o -
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‘L2205-DESR25-ENT-EVE > 39 I” III"II”""I"""" c 23 SetC

(¥ Scanned with OKEN Scanner



78. The role of the teacher is important in

achieving the objective of learning-

transfer, Arrange the factors affecting

learning transfer in sequence.

(a) Use of acquired knowledge in
different situation

(b) Understanding

(¢) Generalization

(d) Similarity of subjects

(e) Methods of study

c>a>d>b>e

c>a>b>d>e

c>b>a>d>e

c>d>b>a>e

cnowp>

78.

AT TR ¥ 389 61 iy

Rreger b1 bR TV BIeft 21 Afiyy

ST 2T STT e TRt Tt oy

e T

(o) e ot fafire fefRerfort 3
Bei

(b) EHFEH

(c) ETHT=ITERTOT

(d) fereai st wHTT

(e) e i faferat

A. c>a>d>b>e

B.'c>a>b>d>e

C. c>b>a>d>e
D.c>d>b>a>e

79.

According to Piaget, children’s
knowledge increases through the
process of ------- and------,

(a) Assimilation

(b) Adaptation

(c) Scaffolding

(d) Accommodation

(e) Application

- Choose the correct answer from the

options given below-
A. aandb only
B. candeonly
C. aandd o'nly
D. band c only

79.

(d) wHESH .

() I
ﬁﬁqﬂmﬁmﬁ%mwgﬁ-
A, FaAa b

B. aﬁ'ﬂcaﬂ‘(e

C. maﬁ‘{d

D. aﬁ?b?ﬁtc

~o® @ @ Space For Rough Work / T &l # for&y 718 @ PR+

13-2205-DESR2S5-ENT-EVE

e

o [IININes s

@ Scanned with OKEN Scanner



80. Why is it important to reflect on past 80. =EATIF bﬁl’lﬁ &1 fyfor m%m
experiences when determining Tyl aﬂ\ﬁﬁ T ﬁwmm‘rqgacgf

vocational interests? 7

A. It helps in identifying hobbies that A. T8 3 T I T A Aee
may not be career-oriented. '

¢ T & WY PRI T & T

B. It provides a clear indication o . :
personal values, skills, and B. € ATATd qedl, HIvTet AR Fhgaran
preferences. FT I Hehdl JETT T &l

C. It limits career options to a C. 9% Hier facal F1 oo ot & o=
specific field, l v el 2 |

D. Itencourages focusing only on ,

~ high-paying jobs. D. %aﬁaﬁ-gﬂﬁﬂa’lﬁﬁlaﬁit?jl kL
‘ ST s T ol TreaTied v 2l

.o ® ® B Space For Rough Work / T #EF R R R & » »
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PART -1V

Hindi =
81. R wwr & fort 1 e B 84, gEETHEMFFEAE.
A (37) HH
B. &N (@) T
v ® ™
D. gf= HEt freed 1 99 -
82, favelt wrereor R 3 e o1 Wl o @ A. F (T ()
-3 B. &ad (@) F (3)
E:)) g‘; C. (30),@HI@)
© b D. (), @ T @)
(d) TEw |
A. Fai > fFar > 5 > g e
B. i > > foram > wews fir
C. &> frar> Fal > wers fFar
D. f3ar > wat > wers frn >+t \ |
B3, T g e et vk £ 85. Rt v awl A ger g e
(31 i;m A. 11
(%)
© ¢ 5
@ T |
TE e &7 w1 - D. 45
A. ¥ ()T (@)
B. (30,3 ()
C. ¥ad (@) T (3)
D. (), (@3 ¥)
o

+o ® ® @ Space For Rough Work / T %4 & R g PR
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86.
e s () o o [R] ¥ ferg @&t

ﬁ'qﬁ‘ma'qqﬁ-

FUT [As): o0 G F 9 L& T8 &,

e Rt et e e fover 21

R [R]: ‘Teqw’ &7 wTiecs e & €

"I TR 77 ‘<4t Tt

A. [As] 3R [R] 991 &&T &, 7T [R],
[As) Y g€ =TT Bl

B. [As] 3k [R] 3T &t & B [R],
[As] i et = 7€ B

C. [As] €8, AfT [R] T 8l

D. [As] e €, g [R] #&T &

ﬁ:{:ﬁqﬁ%daraé@#ﬁﬁn%m%%
=T T 7T BITI-

(a) Fafam(,)

(b) ard farmw ()

(c) JRETH(:)

(d) ()

A. a>b>c>d

B. c>a>b>d

C. b>a>c>d

D. c>b>a>d

87.

et SISt T3

HTeTH-1 HTe-11
(a) T O TR
b) ¥ (1) e
() HEwA ) T
(d) dq (Iv) @

A. a-I, b-II, c-III, d-IV
B. a-IV, b-III, c-I, d-II
C. a-Il, b-IIl, c-IV, d-I
D. a-IlI, b-I, c-1I, d-IV

- 89.

I 55 FHTAT ek 7 37 8-
A. STUTEISHT

B. ST 3FRWT HAT

C. 3@ T« W &

. saiags Rk

90.

‘frlie’ w158 1 IETET0T 8-
A. QYRATS §T A
B. WA= G371 &7
C. ShfdaTeres H3T %1
D. =fFaTse §3 #

3-2205.DESR25-ENT-EVE
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PART -V

—

English

L

91. Direction:

Identify the sentence / sentences
which are in passive voice.

(J) The Earth was believed to be flat.

(K) He writes a letter by pen.

(L) You will be well looked after.
(M) He will have taught me.
Select the correct answer from the
following options.

93.

In the following items, there is a
sentence in which parts have been
jumbled. Rearrange the parts which
are denoted as a, b, ¢, d, €, 50 that the
reordered sentence makes a coheren
sequence. o
(a) he wished to repair his fortune
(b) One day Bassanio came to
Antonio and told him that

. (c) Whom he dearly lgved '
A. T& L only (d) by a wealthy marriage with a lady
B. Konly " (e) Whose father had left her soul
C. Monly ‘heiress to a large estate
D. K&Monly A. a,b,c,d,e B.e;d,c,b,a
C. ¢,d,a,b,e D. b,a,d,c,e
92. Direction: 94. In the following items, there is a

Choose the one which best expresses
the meaning of the following word-
PREDICT

- sentence in which parts have been

jumbled. Rearrange the parts which
are denoted as a, b, ¢, d, e, so that the

A. Explain reordered sentence makes a coherent
sequence.
B. Foretell (a) Who was very fond of reading
C. Arrest books said that students
D. Observe (b) which are the treasures of
knowledge

(c) Dr. Rajendra Prasad
(d) who were the backbone of the

country
(e) should cultivate the habit of

reading books
A. b,a,d,e,c B.c,dezab
C. c,a,d,e,b D. b,e,a,c,d

I
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95. Direction;

Find oyt he correctly spelt word-
A. Arangement

B. AlTﬂngmcnt

C. Al‘ragment

D. Arrangement

98.

Direction:
Choose the one-word substitution-
One who is all powerful.

A. Omnipotent
B. Omnipresent
C. Omniscient
D. None of the above

_—mm

96. Direction:

Choose the word opposite in meaning
to the given word-

FRATERNITY

A. Hospitality

B. Hostility

C. Brotherhood

D. Generosity

97. Match the following.

Column-I Column-II
(a) Figsaresaid (I) Imperative

to be better

than bananas.

(b) Take a seat.
(c) How time
flies!

(d) Iam certain
that I shall
give you
satisfaction.
a-II, b-1, c-1V, d-III
a-III, b-I, c-1V, d-1I
a-I, b-II, c-III, d-IV
a-II, b-1V, c-I, d-III

(II) Passive
(III) Complex

(IV) Exclamatory

DOow»

99.

Direction:

Identify the sentences in which
prepositions are correctly used-

(J) Her marriage with Phillip did not

last very long.
(K) Her marriage to Phillip did not

last very long.
(L) When did your interest in social

work begin?
(M) When did your interest for social

work begin?
Select the correct answer from the

following options.
A. K &L only
B. J & M only
C. ,M &K only
D. K & M only

32205.DESR25-ENT-EVE
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100. For the below Assertion [As] and
Reason [R] choose the correct
alternative.

Assertion [As]: A complex sentence
always contains at least two
independent clauses joined by a
coordinating. :
Reason [R]: A complex sentence is
characterized by the presence of one
independent clause and at least one
dependent clause.

A. Both [As] and [R] are true, and
' [R] is correct explanation of [As].

B. Both [As] and [R] are true, but [R]
is not the correct explanation of
[As].

C. [As] is true, but [R] is false.

D. [As] is false, and [R] is true.
__——
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